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2000

1000

Run 4638 mpswise, accO: All

Enilries=: 171152

Mean: 009247 40 0.0003

Std Dz 0U1265 - 00002

1.4
AcciNAccD

Run 4638 mpswise, acc0: Beam ON, Laser ON

Helicity==0
— Helicity==1

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000

6000

5000

4000

3000

2000

1000

Run 4638 mpswise, acc(: Beam OFF

Enilries: 171152

Mean: 009247 /- 00003

Sid Drev: 01265 - 0.0002

1.4
AccliNAccD

Run 4638 mpswise, acc0: Beam ON, Laser OFF

Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




AccO/NAccO

0.4

Run 4638 mpswise, AccO/NAccO:mpsCoda, beam OFF

x10"



